BLCA

LUAD

UCEC

ACC

BRCA

HNSC

SKCM

gene expression (RSEM) gene expression (RSEM) gene expression (RSEM) gene expression (RSEM) gene expression (RSEM) gene expression (RSEM)

gene expression (RSEM)

5,000
4,000
3,000
2,000

1,000

4,000

3,000

2,000

1,000

2,000

1,600

1,200

3,000

2,000

1,000

2,000

1,500

1,000

500

2,000

1,500

1,000

500

2,000

1,500

1,000

500

SMUGT1

Spearman's rho = -0.21
p=0.0011

TR

AN
7

0.0 0.2 0.4 0.6
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = -0.08
p = 0.0479

\ %4

0.1 0.2 0.3 0.4 0.5
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = -0.32
p =0.2488

A\ 4

0.20 0.25 0.30 0.35
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = -0.34
p =0.0012

0.0 0.1 0.2 0.3 0.4
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = 0.08
p = 0.9593

AN
7

0.00 0.25 0.50 0.75 1.00

uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = 0.04
p=0.8016

A4

0.2 0.4 0.6 0.8
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = 0.09
p=0.7722

[OSA\ 4

0.0 0.1 0.2 0.
uracil-DNA glycosylase deficiency signature statistic

UNG
S 5,000 Spearman's rho = -0.04
% p =0.2929
& 4,000
S
‘= 3,000
wn
g
S 2,000
V)
w —— —
g 1,000
eT0)
0.0 0.2 0.4 0.6
uracil-DNA glycosylase deficiency signature statistic
= T Spearman's rho = -0.07
> 3,000 B
= p = 0.0834
%9
=
c
.2 2,000
A
o
o
X
@ 1,000
)
c
)
eT0)
0.1 0.2 0.3 0.4 0.5 ’
uracil-DNA glycosylase deficiency signature statistic
N
S Spearman's rho = 0.43
2 2,000 p = 0.8488
>
3 1,500
A
o
& 1,000
)
=
S 500
10
0.20 0.25 0.30 0.35 i’
uracil-DNA glycosylase deficiency signature statistic
1
0,000, Spearman's rho = -0.21
s p=0.0318
L
& 7,500
c
e
@ 5,000
L
S
3
o 2,500
c
)
10
0.0 0.1 0.2 0.3 0.4
uracil-DNA glycosylase deficiency signature statistic
5,000
_ T Spearman's rho = -0.12
= 4000 p = 0.0062
)
<3
-5 ,000
w
O
ELz/OOO
X
)
2 1,000
)
10
0.00 0.25 0.50 0.75 1.00/
uracil-DNA glycosylase deficiency signature statistic
N
5,000 Spearman's rho = -0.14
> p =9x10*
L
v 4,000
=
S 3,000
w
w
2 2,000
S
3
o 1,000
c
)
oo AN
0.2 0.4 0.6 0.8
uracil-DNA glycosylase deficiency signature statistic
T Spearman's rho = 0.18
S p=0.9386
w1500
3
c
Q
% 1,000 _’ —
S
X
)
£ 500
)
OD AN
0.0 0.1 0.2 0.3

uracil-DNA glycosylase deficiency signature statistic

gene expression (RSEM x RSEM) gene expression (RSEM x RSEM) gene expression (RSEM x RSEM) gene expression (RSEM x RSEM) gene expression (RSEM x RSEM) gene expression (RSEM x RSEM)

gene expression (RSEM x RSEM)

1x107

5x10°

4e+06

2x10°

5x10°

4x10°

3x10°

2x10°

1x10°

1.5x107 4

(4

1.0x107

5.0x10°

/]
6x10°

4x10°

2x10°

7

4x105 1
3x106
2x10°

1x10°

2.0x10°

1.5x10°

1.0x10°

5.0x10°

SMUGT x UNG

Spearman's rho = -0.16

p = 0.0092
0.0 0.2 0.4 0.6
uracil-DNA glycosylase deficiency signature statistic
Spearman's rho = -0.1
p =0.0155
0.1 0.2 0.3 0.4 0.5 ’
uracil-DNA glycosylase deficiency signature statistic
Spearman's rho = 0.21
p =0.7026
0.20 0.25 0.30 0.35 ?

uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = -0.35
p =8x10*

0.0 0.1 0.2 0.3 0.4
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = -0.02

p=0.3103

0.00 0.25 0.50 0.75 LOd

uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = -0.1
p=0.0154

0.2 0.4 0.6 0.8
uracil-DNA glycosylase deficiency signature statistic

Spearman's rho = 0.19
p =0.9428

0.0

0.1 0.2 0.3
uracil-DNA glycosylase deficiency signature statistic



